







Name: _________________________
Periodic Law






Period: _____ Date: ___/___/______ 

1.  Use the regular periodic table to draw the zigzag line.

2.  Place the atomic numbers in the lower left hand corner and the atomic masses in the upper right hand corner.

3.  The following sets of elements appear as GROUPS:    O, G, CC, II, QQ ;    D, KK, X, L, GG ;  

U, J, Z, S, K, HH ;       A, PP, I, Y, AA ;      T, DD, FF, LL, E ;        R, V, EE, F, N, B ;

        
C, OO, M, W, JJ ;        MM, H, P, Q, BB ;        _________________________________________________________________________

1. EE is an alkali metal.

2. Y has an outer electron configuration of 4s2.

3. U is a noble gas.

4. T has an atomic mass of 32 amu.

5. B is a gas at room temperature.      

6. I is the smallest atom of its group.

7. K has an electron configuration that ends in 6p6.

8. C is an element that is used in fertilizer.

9. R has a lower first ionization energy value than N and V but a higher value than F.

10. Y is the metallic component of limestone. 

11. D is the most electronegative element in the group.

12. LL is a metalloid.

13. OO has the smallest electronegativity of the group.

14. KK is a halogen that sublimates (turns from solid directly into gas).

15. Q has the most energy levels in the group.

16. CC has one more proton than I.

17. V has an outer subshell configuration of 3s1.

18. J has a smaller radius than Z, but a larger radius than S.

19. L is a dark-red liquid.

20. G has a larger electronegativity than QQ but a smaller electronegativity than O.

21. H  has two allotropic forms called diamond and graphite.

22. F is the most explosive of its group.

23. A has a larger first ionization energy than PP and AA.

24. FF is the most abundant element in the earth’s crust.

25. II is an element that is commonly used to contain liquids.  

26. C is especially stable because of a half-filled  “p” subshell.

27. Both P and BB are metalloids but BB has a lower ionization energy.

28. AA has the largest atomic size in the set.

29. Z has a total of 18 protons.

30. W is the most abundant element in the atmosphere.

31. N is the first alkali metal with a completed 3p.

32. HH has one more proton than L.

33. E is the most metallic in this group.

34. Both JJ and M are metalloids, but M has more metallic properties.

35. O has a greater first ionization energy than G, but a lower first ionization energy than II.

36. MM comes from the Latin word stannous.

37. PP has a lower electronegativity than Y and A, but a higher electronegativity than AA.  

38. GG is radioactive.

39. DD has two half-filled “p” orbitals in the fourth energy level.

40. C has one less electron than T.
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QUESTIONS:    

1. Which has a larger radius?    



R  or  F            
C  or X             

2. Which has the highest electronegativity?         

EE or  D
X  or  KK 

3. Which has  the lowest ionization energy?        

B   or  F        
V or A

4. Which has a high 1st I.E. due to a filled subshell?    
J  or   W
V  or   A

5. Identify the make-believe element that corresponds to:

_______a) Atomic number 12


_______b) Atomic mass 84

_______c) 3s23p3
_______d) 4s24p1
_______e) 10 electrons

6. Which make believe element is:

______a) the most metallic in group 2A                      


______b) the most metallic in period 1                             

______c) the most nonmetallic in group 3A                

______d) the most nonmetallic in period 3 
  

7. What charge are you most likely going to find on the following ions?:

   


 N _____   W  ______  KK  ______  EE  ______  Q   ______  T  ______

8. Identify the following formulas as either CORRECT (C)  OR INCORRECT (I):

     


AX2  ____         QT2 ______      VW3  ______        RX  _____       N3M ______
9. Finish writing and balance the following double replacement equations:

      


a)         ID2      +   (EE)3C   ------->
      


b)        RX     +   Y(LL)   ------->
10. Write balanced composition reaction equations for the following:

        

a)      R   +   X2   ----->
       


 b)      V   +  LL   ------>
